The following is a sample test question involving the use convolution to find the inverse Laplace transform of the below equation.  I have thus so far not been able to break the initial equation down into the two separate equations F(s) and G(s).  Any help would be appreciated as it has been a while since I have used partial fractions and such.  The notation we are using is that of DiPrima and a similar problem that might prove useful for solving question is shown below.

QUESTION:
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SAMPLE:
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In the sample problem, variables k and t are separate variables multiplied against each other and not a single variable kt.
Thanks.
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